Potencias de 10 (J)

45+0.01

45-+-0.01

32-+0.01

75-+0.01

37-+0.01

78 +0.01

11-+0.01

49 +-0.01

50-+0.01

78 +0.01

Calcule los siguientes cocientes.

98 - 0.01

7-+0.01

74 +-0.01

68 +0.01

29-+0.01

25+0.01

100-+-0.01

58 +-0.01

4-+0.01

44 +-0.01
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Potencias de 10 (J) Respuestas

45+0.01
4,500
45+0.01
4,500
32+-0.01
3,200
75 +0.01
7,500
37+0.01
3,700
78 +0.01
7,800
11-+0.01
1,100
49 +0.01
4,900
50-+0.01
5,000
78 +0.01
7,800

Calcule los siguientes cocientes.

98+ 0.01
9,800
7+0.01
700
74+0.01
7,400
68 =0.01
6,800
29-+0.01
2,900
25-+0.01
2,500
100 +0.01
10,000
58-0.01
5,800
4+0.01
400
44 +0.01
4,400
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